(The Minister of Council )

1. Consider the following statements:
fFrafafed sy R far Fifse -

1. The Council of Ministers in the Centre shall be collectively re- sponsible to the
Parliament.

&g ¥ dRuReg 99 & ufd adfes ©u ¥ ITRar gr |

2. The Union Ministers shall hold the office during the pleasure of the President of
India.

g H3il HRd & YU & THIGUI UG URUI B |

3. The Prime Minister shall communicate to the President about the proposals for
legislation.

fafd fwior 8 URdTa & SR ® Y=, AFUT Bl Fird B |

Which of the statements given above is/are correct?

Stded HYA1 § A B T/ T /82
(@ Only1/%dd 1 (b) 2and3only/%dd 3 3R 3
(¢ 1and3only/%dd 18R 3 (d) 1,2and3/1,233
2. Which of the following statement is not true?
o & & oI a1 Jodea 9 78 82
(@) President appoints the union ministers. / T Afai &t ﬁ'ﬁ% HRd &bl TIEQﬁ
FATG |
(b) 'Ql'gh%y%hold the office till the President's offerings / G TI'QQﬁ & TS Udd UG W

(c) President does not appoint any minister without recommenda - tion of the Prime

Minister. / JTFUfd UUTH 1 RIGBIRE & fomT fobeit 7l bt FgfeRt Tei &R Tl

(d) Constitution mentions the individual and collective responsi- bility of Ministers. /
faem Af~erl & AfadTTd Td Yifed STRaldd Pl Jeaid Hdl §
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Assertion (A): President is bound to act as per advice of the - cabinet.
YT (A) : IFULT, HRAURYG B I & 3IHd B H3- & [l e B |
Reason-(R): The Council of Ministers cannot be asked to recon- sider its opinion.

BRI - (R) : HEAUREE BT 3O I R GAMTIR o3 & forw et g1 o1 gaheT|

Choose the correct answer in reference to above statements-

ST & deH § 1t IW g

(a) AistruebutRisfalse/A?@%,%RW%I
(b) Ais false butRistrue/AW%,ﬁﬁ.R?l’eﬁ%l
() AandR both are true and R is correct explanation to A/A 3 R I g8l § 3R A T

5! WBIHRUIR B

(d) A and R both are true but R is not correct explanation to A/A 3R R I TEt §

fob=g A &1 51 WBIHRUI R T8 5|

In parliamentary system of government, the members of the council of ministers
are collectively accountable to / TG IRBR a1t gawdT § HiAufiueg & ae
Ife® ¥U § SRR 8ld &1 -

(@) Head of the state / I1od & YU & Ufd

(b) The Prime minister / UYTHA & Ul

(c) The lower house of the parliament / I & Ah g (ﬁ'ED e & ufd
(d) Both the houses of the parliament / TOe & qHi el & ufd

Which of the following statement reflects the base of the cabinet system of
government?

fufafad & 9S-I IR ARHS Y SRPR & TYR & fA=d Har g ?

(@) Cabinet works the principle of collective on responsibility/ HiHed {-Ill-j\l%w

IREIRT & 3MYR TR BT BT &
(b) Cabinet is accountable to the public / HEHST SHdTl & Ufd STRGRA %

(c) Cabinet system of the government is majority govt./ HRATSHT WBHR dgHd G|
WIHR &

(d) Cabinet%system of government is the govt. of a party. / TSI DR d Dt
PR

The principle of 'collective responsibility’ under parliamentary de- mocracy
implies that
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T A & e afee Sweia & Rigr &1 s ka8 2

1. a motion of no-confidence can be moved in the Council of Min- isters as a whole
as well as an individual minister

ﬁﬁtrﬁfggﬁ@mﬁ, 1Y & Y Thd HAl & &Y H, Dig Ay URA1d ardm off
gl g

2. no person shall be nominated to the Cabinet except on the ad- vice of the Prime
Minister

Hifusd o fosedt safad &1yt ot Targ & foar amfcy gt fbar S gearl

3. no person shall be retained as a member of the Cabinet if the Prime Minister says
that he shall be dismissed HIFHUST H ®Is ofcd G & =Y H TgI @I S AebTl,
afe gurHH o8 < [ 38 @i & fagr smem|

Select the correct answer using the code given below. + feg g PC DI TIRT B
gl IR g |

(@ 1only/®ad 1 (b) 2 only/%ad 2

(©) 3only/%dd 3 (d) 2and3/23MR3

What happens if the government is defeated in Rajya Sabha? qfe TP I TUT
H RIfoTd §Y I < &1 g g2

(a) Prime Minister gives his resignation YT SO A9 < odl 6 |
(b) The Parliament dissolves Tdg 4T €3f STt %I

(c) President's rule is implemented Tl'gclﬁ BRG] Fﬂ"lﬁ \_rﬂ?lT%

(d) None of the above happens dqﬁdd 7 S :@f s\ldl %

Any minister India who want to resign from the council of minis- ter will offer his
resignation to-

YRd H $I3 W ot Afufug & AR ST I18dT €, 98 31U ARTUS Wt B e:
(@) The Prime Minister / UYTTHAT Bl

(b) The President/ JIFUfd &1

(c) Speaker of Lok Sabha / AHaHT & e Bl

(d) The party president / ad & e B

In context of Union government, consider the following questions- / ¥4 IRPR

& Yoo #, Fufafad sy w foar #ifse
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1. Ministeries /departments of Govt- of India are constituted by the prime minister
on the advice of cabinet secretary. / Ffgc Ifad & A WR TUHAT gRT HRd
WHR & FATT / TUTT &1 gor b S g

2. Every ministry is assigned to a particular minister by the president of India on the
advice of Prime Minister. / 8 Teb HATCId ! UUTTHAT B! Jdlg WR YR b PUfd
GRT fpeft w3t &1 e fopan i 5|

Which of the above statements is/are ture

Sudad HYEI A T FI9 91/ T 3/ 72
(a) 1on|y/%ﬁ1 (b) 20n|y/%?f2
(c) Both1 &2/1 BhTZ?ﬁ:ﬁ (d) Neither 1 nor2/¢[?ﬁ1 G-ﬁT:TﬁZ

10. The total number of members in the Union Council of Ministers in India shall not
exceed

YRd # THig @fuiiue & Jewl 9t oo e, fHad Siftre 8t 8 9ol 8 2
(@) 10% of the total number of members of the Parliament / T3¢ & TS| B P
TREAT 6T 10 Wlc=—Id

(b) 15% of the total number of members of the Parliament / %G & &l Bt Dd
BT BT 15 Ufc=d

() 10% of the total number of members of the Lok Sabha /Wﬂiﬂa?mﬁﬁ
AT 6T 10 Wfel=—Id

(d)  15% of the total number of members of the Lok Sabha /Wﬂiﬂa?mﬁﬁ
TR 6T 15 fcl=Id

11. Consider the following statements in the content of Indian Consti- tution :
HRAT Wi & wed # Fafifed sy w faar $ifw

1. The Union Council of Ministers shall be collectively responsi- ble to the Lok Sabha

/ TEg afeuleg did JUT & Ufd Iifed U I Saer gt

2. Union Minister shall hold office during the pleasure of the Prime Minister / I &b

31, T & UHIGUd 30 UG YR |
Of these: / 37I'ef 3
(@ Only 1is correct / %I 181 8
(b) Both 1 and 2 are correct / 1 3R 2 Eﬁﬁﬂﬁ%
(¢) Neither 1 nor 2 is correct / Jdar192 ﬂ%)[%
(d) Only 2 is correct / &I 2 el 8
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12. In which of the following provisions of the Constitution of India, the principle of
collective responsibility of the Council of Minis- ters is substituted?

YRd & Gfau & fFafafaa yaumi § @ o dhufiue & amgfes swreiia
&1 Ryegia ufagiiia 82
(@ Article 75 (3)/ 3w 75 (3) (b) Article 75 (1)/ 3T=5G 75 (1)
(c) Article 171 (4)/ 3I=8€ 171 (4) (d) Article 118 (1)/ 3fT=5c 118 (1)
13. The Council of Ministers is collectively responsible : qﬁ'ﬂﬁ'ﬁl@’ ﬂTlI%Eﬁ U |

STRGR Bt 8

1. To the House of the People / a fa
2. Under a Constitutional obligation / U HaYyTeh S1eadT & 3idiid

3. As per Article 75 (3) / 3J®5G 75 (3) & 38R

4. As per Article 74 (3) / 3®5¢ 74 (3) b TR
Which of the above statements are correct? SURIGT # I HIH & YT '\‘lﬁ %'?
(@) 1and20n|y/13hTza")_0|F‘[ (b) 1,2and3only/ 1,233 cham

(¢ 1,3and4only/1,334am (d 1,2,3and4/1,2,334

14. After resigning a Minister needs the permission of whom] to give a personal
statement in Lok Sabha about his resignation in India?

3UAT URTUF ¢4 & dI¢ HRd H U H:il &l 34 AN & faug & die guT A
IfRIITd 9adad ¢4 & fore fras! srgafa &t smaxaedr sidl & ?

(@) Prime Minister / eTTHAT
(b) Speaker / TR

(c) President/ Tlgfﬂ%l

(d) Supreme Court / Fai=d AraTAg

() None of the above / Wﬁ@ﬁé?ﬁﬂ

15. Which one of the following statements about the Union Executive in India is

correct? / HIRd H ¥ STRAUTTIPT & IR A fFuffd sy § 4 P ITUh Il 8 2

(@) According to the Constitution of India, the total number of members of the
Council of Ministers cannot exceed 20% of the total number of Members of the
House of the People / HRd & HfdUM & IR, HRAURYG & Tl &1l T,
b TUT b J&-| &l Hol S&AT &b 20% I 3¢ 81 g1 dball

(b) The rank of the different Ministers is determined by the President/ﬁﬁlﬂﬁﬁ?ﬁﬁ
ot (o) 1 FeiRor yufcr g fasan i 8
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(c) The Ministers are appointed by the President on the advice of the Prime Minister

/ w3 BT fgfeRT T St Ferg W Ayuld §R1 &1 Kl 8

(d) Only a member of either House of Parliament can be appointed as a Minister/dd&

& ol TP e & qa &1 g1 §l & =U § e fohar oI 9ahdr §

16. Who among the following can participate in the business of the Lok Sabha even
if he is the member of Rajya Sabha?

?ﬁmﬁﬁﬁ,mmmweﬁ@ﬁmmﬁmﬁmﬁm

(@) Nominated member of the Rajya Sabha who is specialist in his field./ JISOIHT b1
HAR (ATHifBd ) Taw il U &= BT {9 gl

(b) Deputy Chairman of the Rajya Sabha / SIYHT BT IuGHTTfd
(c) Minister who is the member of Rajya Sabha / T Sl ISTHT BT Ga ™ Bl

(d) Leader of the house in Rajya Sabha / SIHT H e &l Al

17. Question of any or either advice given by the Council of Ministers to the
President-

Afufvug gRT Igufa S § 9 Tl BI5 aU1 $1 A HaE BT UY-

(@) Can't be the subject of investigation in any court. / WWﬁG{TﬂWW
fors =181 I

(b) May be the subject of any High Court inquiry. / fodlt off 3= =maTerg @t St @
fawg g1 g 5

(c)  Will be subject of inquiry by Supreme Court only / Had qare Ty gRI Bl SIE)
&1 fawa ghm

(d) May be subject of inquiry by either house of the parliament/ g & forddt ot Ieq
SR S &1 {9 gl Febvdl §

18.  The cabinet includes-/&fa-e § Affferd gid &-
(@)  All ministers of minister level / AR & g w3
(b) Only cabinet ministers/ &HId bia-e Ht
() Cabinet and state ministers / dfarc T3t 3R Tzt
(d) Cabinet, State and Deputy Ministers / W’c’ Y 3R IuHAT

19. Assertion (A): Now the constitution bans the outer limit of the size of the Council of
Ministers.

FUF (A) : 39 Ay ARFURYE & MHR & T8t WA R ufdey T mar g
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20.

21.

Reason (R): This has been done to prevent the legislators from defecting in favor of
the ruling party.

ST (R) - UHT fAUTIh] Bl A el & Ual H Gofead B Y Acb & g fobar mar g
Select the correct answer using the following codes :

el IR BT 99 FFHifhd $e &1 TR H3d g shka :

Code / ®C:

(@) Both A and R are individually true and R is the correct expla- nation of A/ G A

R R I E 3R A, R B! TE! T |

(b) Both A and R are individually true and R is not the correct explanation of A/ aHl

A 3R R TE1 § SR R, A PI gl 1A Tl 5
(¢) Ais True but R s false /AFI_GQI%, R RTIE?T%I
(d) Adisfalse butRistrue /A TAd 8, RgRIS 7 |
At the time of becoming the Prime Minister of our country one : TUR - &1

TYTHAT 999 7Y f<dt safag &1

(@) Must be a member of one of the Houses of the Parliament - If not, must become
a member of one of the Houses within Six months. /939G & foa Udh Gd hl
I g1 1feT | Ife 8t 8, Al 39 B: A8 & YR [l U e &1 Wexg /9 9
IS §

(b) Need not necessarily be a member of one of the elected as a member of Lok
Sabha within Six months. / 3T g1 fob TG & fbdl Uh g Dl I Bl, I
3 B: A8 b YR ApayT &1 [Haiftd e 97 ST STaRIH §

() Must be a member of one of the Houses of Parllament son prior to appointment./

g A Ugd e o Bl U Ha BT Y& I TS §
(d) Must be a member of Rajya Sabha / ISIIHT HT Ja & BT MTIRTF ¢ |

In India, the Minister which is not a member of either of the two houses of
Parliament, has to be relieved from the rank of Minister-

YRAA e FN A e F A T A PR Tea T i vew A iR F e d
o gl ST USdl &-
(@) After 6 months / 6 HIg diq

(b) After 1year/ W?ﬂfﬁﬂa
(c) After 2 years/ a a'GfEITc{
(d) After 3 years/ NG| a’sfarf:
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22.

23.

24.

25.

26.

Which of the following statements is correct about prime Minister of India ?
HRA & gur=EA & fowg # Fafifeq sy A a s adi 3 2

(@) Prime Minister is the nominal head of the Council of Ministers/qilﬁﬁ—?ﬂﬁﬁqﬂ'ﬁfa
1 A9 9T BT 4T 8

(b) He is not responsible to the Parliament. / 98 T¢ & Ufd SRR T8l B

(c) He cannot dismiss any of his ministers. / dg = HEE ° 4 faedt &l sl TEQT
B IHAT 5|

(d) Prime Minister is the real head of the Council of Ministers. /U%ﬂﬂﬁmﬁ
AP AR |

The Office of the Deputy Prime Minister- SY-YUHA U FT oi--

(@) Was created under the original Constitution. / Hcl AU & 3favid g3 Ul
(b) s an extra & Constitutional growth. / A4 & UTGUMI I §Thr g3l

() Was created by 44th Amendment./ 449 TRNY B gIRT g3l

(d) Was created by the 85th Amendment/ 85d UMY b GRI gl

Responsibility and accountability of the Prime Minister and the cabinet towards

Lok Sabha / AipEHT & Ufa U U4 #AHUSH 1 IR sryar forAgrl-
(@ Is regular/ﬁﬁ??‘eﬂ?ﬁ%

(b) Is indirect / 394 BIct &

(c) Is during election period /e s T Bt g |

(d) s direct, continuous and collective / UG&, 3{dd Ud Hllj\%m @?ﬁ%

The Prime Minister of India is responsible to whom ?

YR &7 YU+ foogas ufe sfatads 82
(@) The Cabinet/ AfFHsd (b) The President / TIECIﬁ
(c) The Lok Sabha/ Al JHT (d) The Rajya Sabha/ g HHI

(e) None of the above / More than one of the above / dui:J:dd TIPS ol / B'CRiEH
HY TP Y 3HiUh

What is the minimum age required to become the Prime Minister of India? / HRd
BT YUTHAT 994 & o a9 oy feat g+ arfze?
(@ 21 Years/21 34 (b) 25 Years/ 25 dY

(c) 30 Years/30 a4 (d) 35 Years/35dY
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27. The Prime Minister- / UYTTHAT B1-
(@) s selected by Lok Sabha / @ JHT & GRT AT ST &

(b) selected by the Parliament / ¥¥g & gRT AT ST &
(c) is appointed by the President / TIEFQﬁ & GRI ﬁﬂ?ﬁ foar STar 8

(d) is nominated by majority party in Lok Sabha / @& 4T H SgHd UT UTe! & GRI
ferd fopan SiTar 8

28. Who among the following served the post of Prime Minister of India in his
political life for more than one time?

fafafaa A 3 fFaq srma Ieifa® siiad § URd & UUTHHA &1 U¢ U6 R 4
e AR & 91¢ GRNfyd fhan

Jawaharlal Nehru / STATgR dTd A&

Lal Bahadur Shastri / WWW
Guljarilal Nanda / T[elolRt dTe ==&l

Indira Gandhi /'{@T[Tﬁ’%ﬁ

Atal Bihari Vajapayee / 3 fogRl arerat

—

A W

Select the correct answer from the code given below-
¥ o 7 Fe @ & SR gfE-
Code / ®C:
@ 1,2and3only/1,2Td 3 Had
(b) 1,3 and 4 only/ 1,3 Td 4 Had
(©) 3,4and5only/3,4Td 5 Had
(d) 1,2, 4and5only/ 1,2 4Td 5 dbdd
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